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1 mole H20 ~18 g
1 bicchiere H20 (180 ml) ~ 10 moli
1 mole = 6.022 � 10 23 molecole
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video
ATLAS Experiment

“Event with two photons”
https://www.youtube.com/watch?v=bTdMUJZr4Fs

https://www.youtube.com/watch?v=bTdMUJZr4Fs
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animazione massa invariante Hàyy
https://twiki.cern.ch/twiki/pub/AtlasPublic/HiggsPublicResults/Hgg-FloatingScale-Short2.gif

https://twiki.cern.ch/twiki/pub/AtlasPublic/HiggsPublicResults/Hgg-FloatingScale-Short2.gif
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a testa
negli ultimi

un caffè 
all’anno

dieci anni
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2015

ATLAS Control Room https://twitter.com/ATLASexperiment/status/584644854958915585
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